~ 7554

B f(z) = (x — 1)2e 2 IZDVTROMICEZ Lo
(1) B f(z) OIBMERRD Ko
2) y = fo) DY S TOBHEH, 2L, lim %™ =0 PRV,

(K]
th

{ = 0@ )60 Gy e
s €~%f7/(1"') '(Lfl)zj
= (a2t )

:«QKCILILHL—;/;) s af (Y =3 ) ety VBINZLE IS E ﬁ?@%

§H1otd 3
\ \ \ \ \ Silon 3'7(){,‘ |ag@ 4 A2 & 0
\ V’\ﬂﬂo . xrng/@ﬂc_

\,\_\»\\\ N D

J' e oA
e 3 l"" o )2 € =0
\ W (1-het = _P’)M QL')%:.L g e i(f)ﬁo;- ( )

o0 ~ 56
3 z = 3")
¢ o» = 3 (1__‘) e’l,w

EE e e = e th
£ x())\“‘w

gl etk

2o < 35 \
f Ty = €7 (1gat?) € F(2m%) Xe—at)=0 43 4\
' et ps)=2 |
= Ci(l "’()L-YB—ZJL—HP) =
:Q—K(i‘_6k+'7) : \ \ f =312

F 05 A IR0 A= 3T T3



